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3.1 Perfect Squares, Square Roots, and Equations
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Example

Solve each equation.

b.x?

81
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Got It?
Solve y2 = 625.
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Example
2_64

Solve a? = 81"
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Got It?

Solve y2 =

IS
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Example
A company makes small custom design stamps that have a square

image area. The image area has an area of 1,200 mm2

a. What is the exact length of one side of the image area?

b. If your answer is not a perfect square, approximate your answer to
the nearest tenth of a millimeter.
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Example
A company makes small custom design stamps that have a square

image area. The image area has an area of 1,200 mm2

a. What is the exact length of one side of the image area?

b. If your answer is not a perfect square, approximate your answer to
the nearest tenth of a millimeter.
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Got It?

A square painting has an area of 460 cm2 What is the length of one
side of the painting to the nearest tenth of a centimeter?
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Your friend claims that x2 is the same as 2x. Tell how he could have
come to that conclusion. Explain whether you agree.

23 A They're the same,

x* 2x
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Squares and Square Roots

v Perfect Squares oM

) A number that is the
square of an integer is a
perfect square.

4

Square Root °
) The square root of a
number is another number
that when multiplied by
itself is equal to the original
number.
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Now, consider the equation x? = p for a value of p > 0.

Jp squared =p xVp = p
and
~Vp squared = ~/p x -Vp = p
x=Vpand x = —\/}?,orx: t\/;
In general, an equation of the form x2= p.whenp>0,

will always have two solutions, one positive and one
negative, x = £ \/F
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Solve x2 = 100.
Write the equation. x2=100
Take the square root of each side.  xZ = +1100

Simplify the square roots. x=%10

Write the solutions. The solutions are 10
and -10.
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